N of reco track vs dxy(PV)

10°

10?

5 =56-15-10 5 0 5 10 15 20 2

| N of associated (recoToSim) tracks vs dxy(PV)

5 =56-15-10 5 0 5 10 15 20 2

N of associated (recoToSim) looper tracks vs dxy(PV)

0 5 0 o 0¥E=35-15-10 5 0 5 10 15 20 25
—— DQM_TT__mkFit-DQM_pless_orig
[Nofresomackvsd —— DQM_TT__mkFit-DQM_pless_modi2 e

._‘__ggg P

H

||||||

N of reco track vs dz(PV)

0.5 1

10°

10

1|
A e ‘
H i i i i i
|
09570 0.20 0.2 0.4 0608

N of associated (recoToSim) tracks vs dz(PV) |

|||I|Ii|||||IVI§IMMHEIHHIIIIEIIIIH

e

bl e

N of associated (recoToSim) tracks vs dz(PV) |

L

. .. w\.
g ’0'. 9’0 m ,'.mmo

0] S T L

0.95 | |||

IE I|||I|||I
Al

-1 -0.5 0 0.5

il||E|||I|||||||II’|I|||I|||I§|I|||I||||| il
LG

0.95/

10

ik
40608

=1-0.8-0.6-0.4-0.2 0

N of associated (recoToSim) looper tracks vs dz(PV)

N of associated (recoToSim) looper tracks vs dz(PV)

0.5 1



	Contents
	Page 1


